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1. k
�Ø4Ó�, 399%Ý*Tiãì, hø0-�3Ñ�2% �/, JøÍó�
b9K?

2. kl�H0 : A,B,C, D°Í�!Ýp½, óÈÝ2]P-², �[/Õì�óA:

2]\p½ A B C D

FÙ½� 219 200 181 180

øù½� 39 52 89 60

Í� 42 48 30 60

�3α = 0.05�ì, �×l��

3. 'X1, · · · , Xn
×àãp.d.f.f(x) = e−(x−θ), x > θ, X®ß��^øÍ, Í�θ ∈
R��J

(i) T = 2n(X(1) − θ) ∼ χ2
2;

(ii) [X(1)−b/(2n), X(1)−a/(2n)]lP�  , a < b,�	�ÃyT, θ�×1−α*
ä  ;

(iii) (ii)�*ä  ��tyÝ
[X(1) − χ2
1−α,2/(2n), X(1)]�

4. 'X1, · · · , Xn
×àãN (θ, σ2)5µX®ß��^øÍ, σ2'
�á�kl
�H0 : θ = θ0, vs. Ha : θ 6= θ0��®UMPl�ÎÍD3? uD3J��,

u�D3JJ���

5. 'bp.d.f.

f(x|θ) =
ex−θ

(1 + ex−θ)2
,−∞ < x < ∞,−∞ < θ < ∞�

(i) �J5µH{f(x|θ), θ ∈ R}bMLR;

(ii) Ãy×ÍÌ?ÂX, kl�H0 : θ = 0, vs. Ha : θ = 1, �O×αì�MPl
�;

(iii) kl�H0 : θ ≤ 0, vs. Ha : θ > 0, �J(ii)�Xÿ�l�, 
×αì�UMPl
��

6. �?Y»�¼�¦#¸àÝ60Í�¦¥�(��
Éú(ounce)), ÿÕì�óA:
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5.27 5.27 5.27 5.27 5.28 5.28 5.28 5.28 5.28 5.29

(i) �3α = 0.05�ì, l�H0 : x0.50 = 5.20, vs. Ha : x0.50 > 5.20;

(ii) ��×¥����óm�90%*ä  ;

(iii) ��×¥��0.255�óx0.25�95%ì*ä&�


